Problema 5

Proof:
Suppose 
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 is a polynomial. Its reciprocal polynomial is
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From the definition, we have 
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 , we  have not yet prove they are Palindromic polynomial , only we know they are reciprocals. Can you explain with a specific example?
Then we have
[image: image6.wmf]å

=

=

n

k

k

k

x

c

x

g

x

f

2

)

(

)

(

,  In here K= to what value?
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We want to show that 
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 is a Palindromic polynomial. So we need to show that
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We consider any
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 .Why 
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 I do not understand this part.
Then 
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Thus 
[image: image18.wmf]k

n

k

c

c

-

=

. This means 
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 if  is yes why if ir is no why too.
Can you explain this with more details this last part, can you give me a specific example.
Therefore, 
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 is Palindromic.
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